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public class Test /] 2L
{
public static void main(String args[])
{
inta=1 /] A| B4
int b =2 EETES
int y; /] A/
y=a+b
System.out.printin(y); // &3 :1+2=3
}
}
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// ONFl 2 1 7|8 X Z2a2
public class Test /I 2L = &4 + HIME
{
inta=1 /] &8
int b =2 /I &8
int get() /I HME
{
return (a + b); /] Btgk o3
}
public static void main(String args[l) // T2 A|2t
{
Test t = new Test(): /] 74| A4, Java TR THA| MM EE
System.out.printin(t.get()); // &3 :1+2=3
}
}
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class Sum /I 2Es = &8 + HME
{
private int a; /I &8
private int b; /1 &8
public Sum(int a, int b)  // 44Af - SeAF1 O|E0|
{
this.a = /I thisag &4d aE A%
this.b =
}
public int get() /I HME
{
return (a + b); // 2rgt 3
}
}
public class Test
{
public static void main(String[] args)
{
Sum s = new Sum(1, 2); // ZHZ| A4
System.out.printin(s.get()): // £3 : 3
}
}
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